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1L IfVz+= < h(z) <z +efor all z > 0, then lim h(z) = AT
The SqWhect * z—1 end
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(a) N (correct)
(b) —o0
(c) -
1
d) —=
(d) :

(e) 0
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~ 1Y :\3 : ] , 2
a 3. lim sin®z — cos® z - \\m (Svac -Closx) (S'f]lx + Snx (efo % Cos x)
"z5% SinT —coST T s e Ca )
D
"c’; %
3
(a) 5 2 3 (correct)
(b) 1 :,\\M ( S\V\x—i-gh\x Copo ~+ Co_cx)
X—H
(©) 3 3 2
1 2 v i
= X 1.1 i
7 = &)= ﬁ“(ﬁ\
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. _ W T
- 2 = = T
-
- A
€352,
h 3 5 \ o~ Jux+4% ~+2x
EVAT 8 -2 x5 Jaxsg —2x Junt¥ + 24X
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(a) _g (correct)
4 \ (=2 ({4x+8 +2x)
(b) _§ — v~ X
8 S Qx+%w-wkl .&__:-H(x—x:Q)
k)g :_A{(xfiﬂx+u
d
(d)§ o
(e) 0 M \ix+% + 2x
¥ =
g +“ o U e ST 3
= - |
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5 It
v #6), ¥ 222 — 9z + 4
b Y f@)={ “o-1 *7*
Ta, r=4
is continuous at x = 4, then a =
(a) 1 (correct)
(b) 0 £ s Cnds & X4 =
(c) 2 o £ st L)
1 xX—Y
d) = 2
@7 \ 2 -qx 443 | Fa
- =) A -
(e) - X4 -4
XAy K~
—) ‘\M (Q)( *l\ . 1 a
X3 i e
o x - - 3 a _:)qz’_lq_gﬂ-
¥ ﬁBL.fi/S

. V1624 + 223 + 512
6. lim -
T——00 3z2 —2

Ndw
o 9 A4k e 3(:' as o Covawien %\Cw Riom Vepo & w
o0 .
(a) :31 r———',,{ — P (correct)
3 A
(6] = X 9= 300 —2
2 2
(d) -f) | ~x 46+ -l{ PR e 4
= Il
(e) _1 X = 5 1 )
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TR A <
~J “’i“‘-tl/-: ‘-1

_ — 1 - .
o i - 2T E |
:c—+2‘2$+I[1—.'L'I| I .

(a) 1 (correct)
3
(b)g o L &L _—_:?"1>—2
1 -—-—) (—1>‘-2
(c) 5 R
(d) E s
5 X 2
b)
(e) 5
TR
. "201—cosz x—9¢ | — Cosx |+ CoSx
g3 2y
(a) 2 (correct)
(b) 1 \ o Sinx ( 1+ Cosx)
- [ \wa -
(c) 0 X l = Co;x G = T
(d) o0
1 ~ Ci+ Cosx)
© 1 _
X —o Sin 2
| 2 (1 Cosx)
¥ o Sxtam
| \ (14 Cosx)
= Ll '
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s 4 /Y

v

93 2 -4z +3
; h of th ti =————h
9. The graph of the function f(x) 57— 5 7 has
a) One vertical asymptote and one horizontal asymptote. (correct)

(
(

b) Two vertical asymptotes and one horizontal asymptote.

d

(e) one vertical asymptote and no horizontal asymptote.

(=) (x~3)

fw) = —

() (2x-H)

)

)
(c) Two vertical asymptotes and two horizontal asymptotes.
(d) No vertical asymptote and one horizontal asymptote.

)

xX-3
i Y X+l
AX +1 3
v L VD
fim £y 21 b Loy c-e0 = X=-z ©
K21 L CEN
— Yz v BB,
10. Which one of the following statements is FALSE?
(lim f(z) = coand lim g(z) = —00,a is;real number)
r—a Ir—a R
(a) lim[(2) + g(c)] = 0 " o
. a=o —rl = — h -
(b) lim(f(z) — g(a)] = o0 e 1 in
im|—3 4 = — A"
(¢) lim[~3f(2) + 49()] = —o0 T B T o
(d) lim - e
z—a f(z)
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T z
11. The set of all values of z on which the function f(z) = @il is

continuous is

i ’/* ;
(a) (_1’ 1) J (1’ OO) (correct)
(b) (1,00) Deno! (1) | x4)
(C) (_170)U(031)U(1,00) - 1__‘1':0 )% X4 >e
(d) (=00, —1) U (-1, 00) B

- (e) [-1,1) —y ek ]l ¥ > e

)
£y Conbs m o TSR

(_'\,l) oY o )

12. The Intermediate Value Theorem guarantees that the function f (z) = 23—2243
has a zero in the interval

(4
z \

(a)‘[ 2,0] R(-2) =-F+q43 =) <o 5 _f(o): 5% o e
() [-1,0] —s HDza1aza3z8>e 5 F(9 23>0 R

() [O 1] —_— -‘Z("] =23%0 ,}?(l):_l—'l-\'g -25%a K
(d) [1,2] ——— 3»(\): I243=2% ) £(? & -143=F>e X

(¢) [-3,-2] P> —2F 4643 <o, F(D) =-¥ 1Y+3 2140 K

(correct)

(]
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13. If the line y = 2z — 4 is tangent to the graph of f(z) = kx3, then k =
473/ Leb (emy) be Ma port A Yangency ~Then

ks 39
(a') 2_27 3 (correct)
9 Kxc. :g—xa"q -— (l-)
(b) 9 At = 2 (v i ﬁaj?L
(c) 1 +(R) = Ko, X57¢0
) = 3)
4 —) L= — ==
@ 3 e s
e 5 SN
—) % He = 2o — 4
=) LA = &xe de
=y H =
C‘Ef
-
& Y = —

14. If y = Az + B is an equation of the tangent line to the graph of f(z) = 3 i_ 7 at
the point (—1,—2), then AB = *
5/3.)
(a) 15 f—’(x) - -i{-i) (correct)
e {
(¢) -9 i 4 Yt &rez
- A2 -
(d) —12 ! e = b 2
() =3 A X+\ Yoo A+
E(\X_l ‘ " é - 6 = .-5. 2 —.3
= Hwe St = = o = = o -2

«Ec\: \‘31"2 = 3 (x4
\j = -*3)(--}:-1
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